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Reg. No.

| Semester B.Sc.3 Degree Examination, November/December 2016
CHEMISTRY (Opt.)
(Fresh & Repeaters New Syllabus)

Time : 3 Hours Max. Marks : 80

Instructions : 1) All questions are compulsory.
e @’g’ﬁ@z’) Zeplesy)
2) Answerallthe questions in the same answer book.
e crv_g’o’/féfmq L.053 VIO DGFANES) )T,
3) Draw neatdiagrams and give equations wherever

necessary.
&5ZI0C) S0t wg‘/fef@g D) TARALE :fcw(’&’o’m/f@@
2)0020.
SECTION-A
Won- e
1. Answer any ten of the following. (10x2=20)

FNIYNIO, cInRmeETR BIE, GuZ020.
a) State Pauli’s exclusion principle.
TR WLHTED IS WS, T,
b) What is Lattice energy ?
WPOT JF 0TI ?
c) Differentiate between accuracy and precision.
© B0 B R TY FTADR), S9AD.
d) What is complexometric titration ? Give an example.

@o@é&@&@# z%égeé&f QNOTTER ? WOTD NVTHHOR ZRE.
' P.T.O.
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e) Define sublimation.
YUBIS 539,93, 030R), RRO.

f) What is hyperchromic shift ?
BHO BT B, DOTTERD ?

g) Calculate the angle strain in cyclobutane.
RERNBET gone® 7 e’ 0, FOT &BOWD.

h) Explain the term enantiomers with an example.

@%ohﬁedabq 2,000 CVTRBTROIR0AT D00,

i) The critical volume of methane gas is 9.87 x1072 dm®/mol. Calculate
VanderWaal's constant ‘b’.

P BROT 3T ™3, 9.87 x1072 dm3/mol 2@, 99,080° W' %oéoﬁ
{0} cdozbq Fo@Y ROWD.

j) Define most probable velocity.
£330 ROPR/ICOH TenR 0BT ?

k) Define azeotropic mixture.
33 BT 9,33,0307 IRRD.
@ EE) <
) Explain why aqueous solution of NH,Cl s acidic in nature ?

NH,Cl to@Be0 £Q2e03000e0 508 Te90.

SECTION-B

WIn - W

Answer any four of the following. ; (4x5=20)
FINTHNTE, CIRYTHTTR GESKA UZORD.
2. Derive an expression for energy of electron in nth orbit.

nth 880309TO= PSR N TFED BROBTLRI), PR
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3. Explain the Born-Haber's cycle for the formation of NaCl.
NaCl ©=ees w0’ -BwWo?, WHI), BORD.

4. Describe the separation of liquid-liquid mixture by fractional distillation.
©0TCRTARY, 183, AV, AWODE TWNYS), WenF RN DERTRY, DIOO.

5. What is Geometrical isomerism ? Explain determination of configuration of
butenedioic acid by anhydride formation.

m&aéa’aﬁaor{é’ QOTTEI ? AN zé 2u0005° S0 Noduéoi)da 900 9D o—% =
:a‘ow-aaé WRVT DIOO.

6. Derive relationship between critical constants and Vander Waal’s constants.
33807 %moﬁﬁ@a TOMR aaasa‘cécf T %moﬁﬁ# ROWORRT #aaeffdsada’i
QTRJRD.

7. Derive an expression for pH in case of salt of weak acid and strong base.

TOWFO &) WP TUO BIE ORE PH ADOBTERRT) TRV

SECTION-C
WIN - T

Answer any four of the following. (4x10=40)
FINTINGE, CIRTHTTR TOE, SVZORD.

8. a) Explain the formation of H, and F, molecules on the basis of VBT theory.
VBT &5000 &0e&3 H,, 308) F, ereons? Ro0ssS Ds30R0.

b) Calculate energy emitted when an electron jumps from 2"d energy level to
1St energy level in Bohr’'s Model of hydrogen spectrum. [R = 1.09677 x107 M~1]

ZRRS FFDPSY, AR T SORESe FFowon Seduse B3 Bovmen
wmﬁdmmw y&om 'u’oz:’:o SROWD. [R =1.09677 x107 M-1] (5+5)
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9. a) With the help of neutralisation curve explain phenolphthalein is a suitable
indicator in the titration of oxalic acid against sodium hydroxide.

S5OF G [0 AneRAI0 FET, B e IR @m@‘aﬁ@@d&d o3mery
RLITROT 3&%@69@ STIDT RTIOR0T DWORO.

b) Explain the types of electronic transitions of organic molecules in
UV-Spectroscopy.

Se0w08¢3 $TEANG TRCHITEO), AWOIND ENTE) FOROWTD NG 2T R
w_a)zoﬂsafﬁ#@t DWOXD. (5+5)

10. a) Explain the terms with an example
i) Epimers ii) Anomers iii) Diastereo-isomers
83 IINTR)NTR), YUTHTTTOSLODT DTWORD.
i) Q007 ii) R0 iii) BROC3RERPEIIT?,
b) Give the postulates of Baeyér’s strain theory.
b iy R»w%oéd RBGF INTRY, WB0D. (5+5)

11. a) Discuss Andrew’s isotherms of carbon dioxide.
QOBWS TWF BT @ DRRCPROFNIS) W3FA0.

b) Calculate pH of 0.5 M solution of NH,Cl. [Given K, = 1.8 x 1079]
0.5 M NH,Cl @353 pH 83 0@ &@0%00. [K, = 1.8 x 1079) (5+5)

12. a) Define critical solution temperature. Discuss Nicotine — Water system with
a neat diagram. Mention its CST.

cs_a)dsad 3435 ma’gaéoroxg{ TR0, 00T WS TROAN VBRI -0’
%%da‘aii 2RICAD TN TV 2.IF. &3, o:bé;=t SDWRDO.

b) Multiple extraction is more efficient than single step extraction. Justify using
Nerst’'s distribution law.

SR FS DSTF QODIT SERTE B0 BOTS® 0T, BTD) AONTHT
DY, BT No8 et &3, POTOBRNG QOWTT) BROPF AL (5+5)




